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Problem quickname: 4896

1
Calculate the result by splitting the second number. Jump to the next multiple of ten
first. Fill in the missing numbers as shown in example a).

a) 41 —4: 41 =5 40 =3 37 b)65—8 65— @ —»

)33-7 33— @ — d) 85 —6: 8 ——  ——
)94 -6 94— — £)27—-9: 27 —  ——
g)15 -8 15 —  —— h) 87 —8 87 ——  ——

)71—5 71—

NTT—8 7T ——

~
~

2)

Calculate the result by splitting the second number. Jump to the next multiple of ten
first. Fill in the missing numbers as shown in example a).

a) 65— 9: 65 =2 60 —% 56 b) 63 —8 63 — ——
14+9 14— T H3+8 33— T
e)37-8 37 — —— f) 42 —3: 42 —  ——
0)36-T 36— D) 7448 T4
)58 44 BS D827 82—
3)

Calculate the result by splitting the second number. Jump to the next multiple of ten
first. Fill in the missing numbers.

) 87T 46 87T b) 67 4+ 5 67—
) 63+9 63— )78+5 TS Ty
913+9: 13— T HNT6+9 76—
o) T8 +4 T8 I )57 44 BT —— o T
D44+ a4 T Dor+T 2 I
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4

Calculate the result by splitting the second number. Jump to the next multiple of ten
first. Fill in the missing numbers as shown in example a).

a) 35 — 8 35 =2 30 = 27 b) 45— 8 45 ——  ——
)33—-8 33— —— d)33—-6: 33— ——
)84 -8 84— —— 76 -7 76— @ ——
g)25 -7 25 —  —— h) 66 — 8 66 —s = ——
i)34—5 34— — HDIT—8 97— ——
Good Luck!
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